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I: Resolver los Productos Notables de dos binomios 
 
(𝒂𝒂 − 𝒃𝒃) (𝒂𝒂𝟐𝟐 + 𝒂𝒂𝒂𝒂 + 𝒃𝒃𝟐𝟐) = 
(𝑎𝑎) (𝑎𝑎2 + 𝑎𝑎𝑎𝑎 + 𝑏𝑏2) − 𝑏𝑏 (𝑎𝑎2 + 𝑎𝑎𝑎𝑎 + 𝑏𝑏2) = 𝑎𝑎3 + 𝑎𝑎2𝑏𝑏 + 𝑎𝑎𝑎𝑎2 − 𝑎𝑎2𝑏𝑏 − 𝑎𝑎𝑎𝑎2 − 𝑏𝑏3 =    𝐚𝐚𝟑𝟑 − 𝐛𝐛𝟑𝟑                  
 
 (𝒂𝒂 + 𝒃𝒃)(𝒂𝒂𝟐𝟐 − 𝒂𝒂𝒂𝒂 + 𝒃𝒃𝟐𝟐) =    
(𝑎𝑎) (𝑎𝑎2 − 𝑎𝑎𝑎𝑎 + 𝑏𝑏2) + 𝑏𝑏 (𝑎𝑎2 − 𝑎𝑎𝑎𝑎 + 𝑏𝑏2) = 𝑎𝑎3 − 𝑎𝑎2𝑏𝑏 + 𝑎𝑎𝑎𝑎2 + 𝑎𝑎2𝑏𝑏 − 𝑎𝑎𝑎𝑎2 + 𝑏𝑏3 =    𝐚𝐚𝟑𝟑 + 𝐛𝐛𝟑𝟑                  
 
(𝒙𝒙 − 𝟑𝟑) (𝒙𝒙𝟐𝟐 + 𝟑𝟑𝟑𝟑 + 𝟗𝟗) = 
        
 
 
 
 
(𝟐𝟐𝒂𝒂𝟑𝟑 − 𝟓𝟓𝟓𝟓𝟐𝟐) (𝟒𝟒𝟒𝟒𝟔𝟔 + 𝟏𝟏𝟏𝟏𝟏𝟏𝟑𝟑𝒃𝒃𝟐𝟐 + 𝟐𝟐𝟐𝟐𝒃𝒃𝟒𝟒) = 
 
 
 
 
 
 
 
(𝟒𝟒𝟒𝟒 + 𝒚𝒚𝟑𝟑) (𝟏𝟏𝟏𝟏𝟏𝟏𝟐𝟐 − 𝟒𝟒𝟒𝟒𝒚𝒚𝟑𝟑 + 𝒚𝒚𝟔𝟔) = 
 
 
 
 
 
 
 
 
(𝟓𝟓𝒂𝒂𝟐𝟐 + 𝟑𝟑𝒃𝒃𝟒𝟒) (𝟐𝟐𝟐𝟐𝟐𝟐𝟒𝟒 − 𝟏𝟏𝟏𝟏𝒂𝒂𝟐𝟐𝒃𝒃𝟒𝟒 + 𝟗𝟗𝟗𝟗𝟖𝟖) = 
 
 
 
 
 
 
Salmos 120:1 A Jehová clamé estando en angustia, Y él me respondió. 
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